
a}=kmf=174

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 7,932,069,960   1= ljb]zL d"b|f / ;]So"l/^L 415,403,047,000

2= rng rNtLdf /x]sf] gf]^ 407,470,977,040

hDdf lgisflzt gf]^ 415,403,047,000

hDdf bfloTj 415,403,047,000   hDdf ;DklQ 415,403,047,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 3,000,000,000   1  gf]^ 7,932,069,960
2 ;fwf/)f hu]*f sf]if 23,734,999,885   2  /]RsL -
3 df}lb|s bfloTj sf]if 4,197,513,998   3  ljb]zL d"b|f 22,309,469,573
4 ljsf; sf]ifx? 18,951,242,991   4  ljb]zL a}+s df}Hbft 85,692,431,648
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 173,588,233
6 ;^xL ;lds/)f sf]if 82,574,493,607   6  ljb]zL a)* 128,606,797,069
7 ;"grf¤bL ;lds/)f sf]if 10,188,767,853   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if (4,733,433)      -s_ :jb]zL 75,965,785
9 lgIf]k      -v_ ljb]zL 718,270
   -s_ g]kfn ;/sf/ 261,459,417,105   8  nufgL
   -v_ afl)fHo a}°x? 127,774,481,532      s= ljb]zL ;]So"l/^L 271,684,052,614
   -u_ ljz]if lgIf]k -      v= g]kfn ;/sf/sf] ;]So"l/^L 65,194,173,058
   -#_ cGo 46,564,020,297      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 3,448,571,870
10 e"QmfgL lbg"kg]{ lan 335,234,217      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa 31,481,675,000      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj -   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 9,573,645,926      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 11,842,922,418      v= jfl)fHo a}+sx?nfO{ 8,881,473,872

     u= ljQLo ;+:yfx?nfO{ 666,616,139
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 4,156,640,765
  10 ;"g df}Hbft 1,440,845,160
  11= cGo ;DklQ 31,379,267,380

hDdf OSjL^L tyf bfloTj 631,673,681,396   hDdf ;DklQ 631,673,681,396
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